
Línulegar di�urjöfnur af 1.stigi

math104-5
al
 Di�urjöfnur

Kjartan G. Magnusson, followed by many others

November 12, 2015

Kjartan G. Magnusson, followed by many othersLínulegar di�urjöfnur af 1.stigi November 12, 2015 1 / 3



Línulegar di�urjöfnur af 1.stigi

Línulegar di�urjöfnur af 1.stigi

dy

dx

+ P(x)y = Q(x)

Kjartan G. Magnusson, followed by many othersLínulegar di�urjöfnur af 1.stigi November 12, 2015 2 / 3



Línulegar di�urjöfnur af 1.stigi

Dæmi

x

dy

dx

= x

2 + 3y , x > 0

⇒
dy

dx

−
3

x

y = x

þ.e. P(x) = −
3

x

, Q(x) = x

v(x) = e

∫
P(x) dx = e

−

∫
3

x

dx = e

−3 ln x

= e

ln x

−3

= 1

x

3

⇒ y(x) = 1

v(x)

∫

x ·
1

x

3

dx

= x

3

∫

x

−2

dx

= x

3

·

(

−x
−1 + C

)

= Cx

3

− x

2 (x > 0)

Kjartan G. Magnusson, followed by many othersLínulegar di�urjöfnur af 1.stigi November 12, 2015 3 / 3


	Línulegar diffurjöfnur af 1.stigi

